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Choose one quiz, either A or B and answer a range of exam questions that add up to 18 marks in total. For example 3x 6markers or 1x9marker + 1x 6 marker + 3marker.

QUIZ AFigure 1
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Figure 2
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Figure 4
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Figure 6
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a. Urban means…
b. Rural means…..
c. Urbanisation is…..
d. In 2015……..% of the world’s population lived in urban areas. 
e. In 2050 it is predicted that……..% will live in urban areas.
f. Urban growth is….
g. Two causes of urban growth are…..
h. A megacity has a population of….
i. Natural increase occurs when there is a………..birth rate and…………death rate = population………
j. Natural increase is common in NEE/LICs. True or false?
k. Rural to urban migration is the movement of people from……to……
l. State two push factors that result in urbanisation. 
m. State two pull factors that result in urbanisation. 

QUIZ B
a. Urbanisation is more common in LICs / HICs.
b. Urbanisation is caused due to industrialisation which pulls people to cities. Industrialisation is…….
c. The UK went through industrialisation in……………..
d. LICs and NEEs are currently going through industrialisation. As a result…..
e. Urbanisation is also happening due to natural increase. Natural increase when the birth rate is………..than the death rate. This occurs in stages……………….of the DTM.
f. Are LICs or HICs currently experiencing natural increase? 
g. How does this affect their population?
h. The UK is currently in stage………..of the DTM. Therefore there is a……….birth rate and…………death rate
i. How does this affect their population?
j. The 2 case studies we learn about in this unit are……

PRACTICE EXAM QUESTIONS
1. Study Figure 1, a map showing the percentage of the population living in urban settlements in different parts of the world. 
a. Describe two differences in the percentages of population living in urban settlements in South America and Africa. (2)
b. Suggest two reasons for the slow rate of urban growth in many higher income countries. (2 marks)
2. Study Figure 2, a graph showing changes in the world’s rural and urban population from 1950 to 2050 (predicted).  Describe how urban populations have changed. (4 marks)
3. Study Figure 4, a table showing estimated population change in a number of cities. 
a. Which city is predicted to have the largest increase in population between 2000 and 2015? (1 mark)
b. Use the figure to compare the estimated population changes of cities in more developed countries and less developed countries. (4 marks)
c. Give two reasons why people in LICs are attracted to urban areas. (2 marks)
4. Study Figure 6, a graph showing information about the percentage of the population living in urban areas. 
a. Compare the estimated rate of change in Asia with that in North America. (2 marks)
b. Suggest one reason for the estimated rate of change in North America (2 marks)
c. In which continent is the percentage of population living in urban areas estimated to increase the most between 2000 – 2025? (1 mark)
d. Suggest one reason why the percentage increase in urban population in Asia is high. (1 mark)
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Study the figure below, a map showing the percentage of the population living in
urban settlements in different parts of the world
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Describe two differences in the percentage of population living in urban settlements in
Aftica and South America.

Difference 1:

Difference 2:

(Total 2 marks)
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Study the figure below, a graph showing changes in the world's rural and urban
population from 1950 to 2050 (predicted).
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Using the figure above, which two of the following statements about the world's rural
and urban population are true?

Shade two circles only.

A The rural population grew fastest between 2000 and 2010. )

B The urban population grew more rapidly than the rural =
population between 1950 and 2000.

€ The urban population is expected to grow more slowly than
the rural population from 2015 onwards.

D The urban population increased by over 2000 million =
between 1950 and 2010.

E  The worlds total population doubled between 1950 and =
1980.

(Total 2 marks)
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The figure below shows estimated population change in a number of cities.

Population (millions)

Country City Latitude | 2000 | 2015 (est)
UK London 51°N 10 11
More USA Los Angeles | 34°N 12 14
Developed -
Countries | USA New York 41°N 16 16
Japan | Tokyo 36°N 27 28
Indonesia | Jakarta 6°S 14 2
Less India Kolkata 23°N 14 21
Developed -
Countries | Nigeria | Lagos 6°N 12 24
Brazi | Sao Paulo 23°S 17 2

(i) Use the information in the figure above to label the following cities on the
world map below.
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Study the following table, which shows information about the percentage of the
population living in urban areas.

2000 2025 (estimated)
Africa 38 56
Asia 36 58
Europe a7 84
North America 80 86
South America 74 86

() Complete the graph. Use information from the table.
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Urbanisation is.....

More specifically.....

By 2050.....

The increasein people living in towns and cities
I 1950 33% of the world’s population lived in urban areas,
whereas in 2015 55% of the world’s population lived in urban

areas.

Itis predicted 70% will be living in urban areas.

Urbangrowth

The increaseinland coveredby cities

Urban growthis caused
By

Naturalincrease and ruralto urban migration.
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Three arecurrently 34 megacities in the world.

Urbanisation results in the
creation of....

Megacities

Most megacities are located...

More specifically.....

InLICs and NEEs

65% of all megacities are located in LICs and NEEs.

A megacitys...

An urban area with over 10 million people living in it. For
example Mumbai, Tokyo and Mexico City.

Naturalincreaseis.....

If a country has a higher birth rate than death rate, the
population will naturally increase. This type of population is
often found n stages 2 and 3 of the DTM where there is 3 high
number of young adults (18-35 years) who are having lots of
children and few older people who are dying due to improved
healthcare. Therefore urban growthis common in NEEs.

Rural to urbanmigrationis...

The movement of peaple from the countryside to cities. It is
caused by push factors (pushing people out of rural areas) and
pull factors (pulling people to cities).

Push factors are....

Factors that push people out of an area. Negative factorsthat
make people want to leave an area.

Urban growthis happening
more in LICs/NEES due to....

More specifically.....

Industrialisation

As a country develops their economy changes from
agriculture (primary) to manufacturing (secondary) and
services (tertiary). This accurs during the industrial
revolution. Most of the secondary and tertiary jobs are in
towns and cities. When this occurs, lots of people move
from rural to urban areas = rapid urbanisation. HICs went
through their industrial revolution a long time ago, whereas
LICs and NEEs are going through their industrial revolution
now. As a result more people in LICs and NEEs are currently
moving to urban areas.

Pull factors are....

Factors that pull people out of an area. Negative factors that
make people want to leave an area.

Ruralto urban migration
push factors make people
wantto leave rural areas.
Examples include....

« Farmingis hard and poorly paid

« Increased use of machineryin farming = less people
needed to word = unemployment

« Dryland in ruralareas caused by desertification = land
cannot be farmed

« Fewer dactors, hospitals, schools and transportation
routes

Urban growthis happening
more in LICs/NEES due to....

More specifically.....

Naturalincrease

LICs and NEEs are in stages 2 and 3 of the demographic
transition model. In these stages there is a high birth rate
and lower death rate = more people are born thanare dye =
the population naturally increases. In HICs there is a low
death rate and even lower birth rate = the populationis
declining.

Ruralto urban migration
pull factors make people
want to move to urban
areas. Bxamples include

« More highly skilled, better paid jobs
*  Renge of entertainment opportunities

* More and better doctorsand hospitals

*  More schools and better education

*  Better transportation routes/public transport

Urban growthis happening
more slowly in HICS due to...

More specifically.....

Counter-urbanisation.

INHICS, people are deciding to leave cities and live in the
surrounding countryside to get a better quality of life (less
pollution, quieter, more space). They can commute to work
due to improved transportation.

Case studies:

Riode Janeiroand London





